
P.T.O.

Total No. of Questions—5] [Total No. of Printed Pages—4

Seat

No. [5101]-EXT-101

F.Y. B.A. (External) EXAMINATION, 2017

Group-A : COMPULSORY ENGLISH

Text Prescribed : Visionary Gleam

(2013 PATTERN)

Time : Three Hours Maximum Marks : 100

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any one from (A) and one from (B) of the following in

about 150 words each : [20]

(A) (1) Attempt a character sketch of the Astrologer.

(2) Discuss ‘The Gift of the Magi’ as a story of love and

sacrifice.

(B) (1) Comment on the use of humour and irony in the story,

‘Karma’.

(2) What are the six pillars of self-esteem according to Nathaniel

Branden ?

2. Attempt any one from (A) and one from (B) of the following in

about 150 words each : [20]

(A) (1) Comment on the use of poetic devices in ‘A Red, Red

Rose’.

(2) Bring out the significance of the title ‘Where the Mind

is Without Fear’.
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(B) (1) Elaborate the central idea of the poem, ‘If You Call Me’.

(2) Describe Tagore’s poem ‘Where the Mind is Without Fear’

as a prayer for his country.

3. Attempt any one from (A) and one from (B) of the following in

about 150 words each : [20]

(A) (1) What message does Nehru convey in ‘A Tryst with

Destiny’ ?

(2) What are the avenues for service open to the youth today,

according to Karan Singh ?

(B) (1) Discuss the ending of the story, ‘The Eyes are not

Here’.

(2) How, according to Dr. Ambedkar, can education help to

eradicate the caste system ?

4. Attempt any one from (A) and one from (B) of the following in

about 150 words each : [20]

(A) (1) How does Wordsworth portary the city in ‘Upon

Westminster Bridge’ ?

(2) What characteristics of the old woman are noticed by

the narrator ?

(B) (1) Do you agree with the poet’s definition of success ?

Substantiate.

(2) Why does the poet’s attitude to look at the old woman

change in the end ?
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5. (A) Attempt any five of the following : [10]

(1) Use correct tense forms of the verbs given in brackets :

In a fit of anger, she ....................... (write up) the letter

and ....................... (post) it the next day.

(2) Fill up the blanks in the sentence given below with suitable

preposition :

The floor ....................... the hall was covered .......................

a carpet.

(3) Fill in the blanks in the sentence below, putting the

verbs in brackets in either simple past or past progressive

tense :

Suresh ........................... (come) when I ...........................

(have) a bath.

(4) Fill in the blanks in the sentence below, using the future

perfect form of the verb given in bracket :

By the end of this month, I ........................... (work) here

for five years.

(5) Fill in the blanks in the sentence below with suitable

articles :

Ranjit got ..................... degree in law from .....................

University of Delhi.

(6) Fill in the blanks in the sentence below using the appropriate

form (singular/plural) of the verb given in bracket :

All the boys ..................... (play : simple present) table

tennis.

(7) Rewrite the following sentence in the tense suggested

in bracket :

She is playing table tennis with her brother.

(Change into the past progressive tense)
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(B) Attempt any two of the following : [10]

(1) Your friend has passed UPSC examination. You congratu-

late him on this wonderful achievement. Write an informal

dialogue based on this situation.

(2) The teacher has wrongfully punished Sushma’s child in

the school. Sushma meets the teacher to register her

complaint. Write a dialogue based on this situation.

(3) Mr. Jadhav and Mr. Pansare are discussing about the

impact of demonetization. They agree on some points

and disagree on others. Write a dialogue based on this

situation.



Total No. of Questions—5+5] [Total No. of Printed Pages—8

Seat

No. [5101]-EXT-102

F.Y. B.A. (EXT.) EXAMINATION, 2017

MARATHI

G-1 : 

(2013 PATTERN)

100

 : — (i) 

    (ii) 

    (iii) 

 :— (i)

(ii)

1. [10]

(i)

(ii)

(iii)

(iv)

[10]

(i)

(ii)

(iii)

(iv)

P.T.O.
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2. [10]

(i)

(ii)

(iii)

(iv)

(v)

(vi)

(vii)

[10]

(i)

(ii)

(iii)

(iv)

(v)

(vi)

(vii)

3. [10]

(i)

(ii)
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[10]

(i)

(ii)

4. [15]

(i)

(ii)

(iii)

(i) [15]

(ii)

(iii)

5. [5]

(i) Judge

(ii) Lawyer

(iii) Appeal

(iv) Circular

(v) Budget
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(vi) Tender

(vii) Lecturer

(viii) Auditor

(ix) Cashier

(x) Draft

[5]

(i)

(ii)

(iii)

(iv)

(v)

(vi)

(vii)

(viii)

(ix)

(x)
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[5101]-EXT-102

G-1 : 

100

 :— (i)

(ii)

1. [20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)

(vii)
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(viii)

(ix)

(x)

(xi)

(xii)

Office

Ration Card

Toilet

Publication

(xiii)

2. [10]

(i)

(ii)
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[10]

3. [10]

(i)

(ii)

[10]

When I was growing up on the South side of Chicago, I could

not read neither my mom nor my younger brother and sister.

Only my big sister could read; because she caught on in school.

We all went to the same public school. But the rest of school
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was a nightmare. I remember being laughed at and made fun

of my others school mate. When the teacher would call on

me to read out loud in class, because I stumbled over

every word and on top of that I had a real bad stuttening

problem.

These were the most shameful moments of my life. I

would get so angry. I would flip over my desk and run out

of class.

4. [20]

(i)

(ii)

5. [20]

(i)

(ii)

(iii)



P.T.O.

Total No. of Questions—3+6] [Total No. of Printed Pages—7

Seat

No. [5101]-EXT-103

F.Y. B.A. EXAMINATION, 2017
FRENCH (ADVANCED)

(2013 PATTERN)
Time : Three Hours Maximum Marks : 100
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[5101]-EXT-103
FRENCH (BEGINNERS)

TEXT : Nouvel En Échanges—Raddi/Paranjpye

Time : Three Hours Maximum Marks : 100
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P.T.O.

Total No. of Frages—5+5] [Total No. of Printed Pages—7

Seat

No. [5101]-EXT-104

F.Y. B.A. EXAMINATION, 2017

GERMAN (ADVANCED)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 100

Note :— Use of a dictionary is not allowed.
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[5101]-EXT-104
GERMAN (BASIC)

Time : Three Hours Maximum Marks : 80

Note :— All questions are compulsory. Use of a dictionary is not allowed.
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Total No. of Questions—5] [Total No. of Printed Pages—2

Seat

No. EXT-[5101]-106

F.Y. B.A. EXAMINATION, 2017

GUJARATI

(2013 PATTERN)

Time : Three Hours Maximum Marks : 100

P.T.O.

[20]

[20]

[20]
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[10]

[10]

[10]

[10]



Total No. of Questions—5] [Total No. of Printed Pages—3

EXT-[5101]-107

F.Y. B.A. EXAMINATION, 2017

URDU

(Group-B)

(2013  PATTERN)

Time : Three Hours   Maximum Marks : 100

N.B. :—(1) Attempt  All questions.

(2) Figures to the left indicate full marks.

(A) Bang-e-Dara Part-I.

(B) Chand Hum Asr by Maulvi Abdul Haque.

P.T.O.

 Seat
  No.
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Total No. of Questions—5+5] [Total No. of Printed Pages—12

Seat

No. [5101]-EXT-110

F.Y. B.A. (EXT.) EXAMINATION, 2017

HINDI (G-1)

(Functional Hindi)

(2013 PATTERN)

100

 :— (i)

(ii)

1.

[10]

(i) Accounts officer

(ii) Credit

(iii) Declaration

(iv) Factor

(v) Joint account

(vi) Manager

(vii) Negotiation

(viii) Parliament

P.T.O.
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(ix) Qualification

(x) Recovery

(xi) Tendency

(xii) Willing

[10]

(i) 15

(ii) 60

(iii) 40 + 40 = 80

(iv) 100 – 25 = 75

(v) 25 × 4 = 100

(vi) 75 – 25 = 50

(vii) 90%

(viii)
1

10
3

(ix)
5

6

(x) 85%

(xi) 8.4

(xii) 26.3
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2.

[10]

(i)

(ii)

(iii)

(iv)

(v)

(vi)

(vii)

(viii)

(ix)

(x)

(xi)

(xii)

3.

[6]
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[10]

(i)

(ii)

(iii)

4.

[10]

(i)

(ii)

(iii) (LIC)

(iv)
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[6]

In olden days society was free from a number of evils which

we find in the modern times. There were no thieves and no

robbers. History tells us that in the days of ancient Hindu King’s

people did not lock their doors. People were honest and truthful.

They had a just for life. In the modern days man lives constantly

in fear of war. There were wars in the olden times also but

there were not so fierce. Weapons of war were not so destructive

as they are today. Wars were limited only to the battlefield.

They did no harm to the civilians. Battle hours were fixed. Soldiers

of the opposite camps could mix freely with one another after

the battle hours.
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5. [18]

(i)

(ii)

(iii)

(iv)

[20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)



[5101]-EXT-110 7 P.T.O.

[5101]-EXT-110

 : — (i) 

     (ii) 

100

 :— (i)

(ii)

1. [20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)

2. [20]

(i)
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(ii)

(iii)

(iv)

(v)

(vi)

3. [12]

(i)

(ii)

(iii)

[12]

(i)
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(ii)

(iii)

4. [8]

(i) Account

(ii) Capital

(iii) Balance

(iv) Deputation

(v) Evaluation

(vi) Explanation

(vii) Immediate

(viii) Ordinance

(ix) Salary

(x) Tourism
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[6]

(i)

(ii)

(iii)

(iv)

(v)

(vi)

(vii)

(viii)

[6]

(i) In olden days society was free from a number of evils

which we find in the modern times. There were no thieves

and no robbers. History tells us that in the days of ancient

Hindu King’s people did not lock their doors. People were

honest and truthful. They had a just for life. In the modern

days man lives constantly in fear of war. There were war’s

in the olden times also but there were not so fierce. Weapons

of war were not so destructive as they are today. Wars

were limited only to the battlefield. They did no harm to

the civilians. Battle hours were fixed. Soldiers of the opposite

camps could mix freely with one another after the battle

hours.
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(ii)

[6]

(i)
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(ii)

5. [10]

(i)

(ii)

(iii)



Total No. of Questions—5] [Total No. of Printed Pages—5

EXT-[5101]-111

F.Y. B.A. EXAMINATION, 2017

PERSIAN

General  Paper  I

(Text : Aks-e-Farsi)

(2013  PATTERN)

Time : Three Hours   Maximum Marks : 100

N.B. :—(1) All questions are compulsory.

(2) Figures to the right indicate full marks.

1. Define and illustrate any six of the following :  [12]

P.T.O.

 Seat
  No.



2. Write short notes on any three of the following : [15]

3. (A) Reproduce any one story of the following : [12]

(B) Write short notes on any threeof the following : [15]

4. Translate and explain any ten couplets of the following : [20]

2 EXT-[5101]-111



P.T.O. 3 EXT-[5101]-111



5. (A) Translate any two passages of the following : [16]

4 EXT-[5101]-111



(B) Translate the unseen English passage in Persian, Urdu  or

Marathi : [10]

Indians have been skilled mathematicians for thousands of

years. India was the birth place of many important

mathematical concepts. The concept of zero originated in

India. It is from India that the world learned the decimal

system.

5 EXT-[5101]-111



P.T.O.

Total No. of Questions—5] [Total No. of Printed Pages—4

Seat

No. [5101]-EXT-112

F.Y. B.A. (External) EXAMINATION, 2017

SANSKRIT 

G-1 : Surabharati 

(2013 PATTERN)

Time : Three Hours Maximum Marks : 100

 :— (i)

All questions are compulsory.

(ii)

Figures to the right indicate full marks.

1.

[20]

Translate each two from Section ‘A’ and Section ‘B’ into Marathi

or English :

(Section ‘A’)

(1)
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(2)

(3)

(Section ‘B’)

(1)

(2)

(3)
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2. [20]

Explain with reference to context any two from each Section,

Sections ‘A’ and ‘B’ :

(Section ‘A’)

(1)

(2)

(3)

(Section ‘B’)

(1)

(2)

(3)

3. [20]

Write an essay type of answer to any one of the following :

(1)

Describe in detail.

(2)

Appreciate the lesson .

4. [20]

Write an essay type of answer to any one of the following :

(1)

How does describe ?
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(2)

Discuss the statement “The lesson  is a form

of modern poetry”.

5. [20]

Write critical notes on any two of the following :

(1)

Optimism expressed in the dialogue between  and 

(her son).

(2)

Suggestions of  regarding settlement of a new village.

(3)

(4)

Explanation given by regarding .



Total No. of Questions—3+3] [Total No. of Printed Pages—4

Seat

No. EXT-[5101]-114

F.Y. B.A. EXAMINATION, 2017

PALI KUSUMANJALI (1-8, 15-17)

(General Paper I)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 100

P.T.O.
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Total No. of Questions—5] [Total No. of Printed Pages—4+2

EXT-[5101]-115

F.Y. B.A. (External) EXAMINATION, 2017

ARABIC

General  Paper  I

(2013  PATTERN)

Time : Three Hours   Maximum Marks : 100

1. Translate into English or Urdu or Marathi any two of the following

passages : [20]

P.T.O.

 Seat

  No.



2 EXT-[5101]-115



2. Explain with reference any five of the following verses : [20]

P.T.O. 3 EXT-[5101]-115



3. (A) Define and illustrate any two of the following : [15]

(B) Write the answers in Arabic any five of the following : [5]

4 EXT-[5101]-115



4. Write long notes on any two of the following : [20]

5. (A) Translate the following into English (any five) : [10]

P.T.O. 5 EXT-[5101]-115



(B) Translate the following into Arabic (any five) : [10]

(1) On the window there is a curtain.

(2) There is a student in the class.

(3) This bus is coming from the college.

(4) His office is far from his home.

(5) The colour of his car is beautiful.

(6) No, his college is closed.

(7) There is a table in the room.

(8) That chair is comfortable.

6 EXT-[5101]-115



P.T.O.

Total No. of Questions—5+5] [Total No. of Printed Pages—6

Seat

No. [5101]-EXT-116

F.Y. B.A. (External) EXAMINATION, 2017

ECONOMICS

G-1 : Indian Economy—Problems and Prospects

(2013 PATTERN)

Time : Three Hours Maximum Marks : 100

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any one of the following questions : [20]

(1) Explain the various issues of development in India.

(2) Explain the theory of Demographic transition.

2. Attempt any one of the following questions : [20]

(1) What is Relative Poverty and Absolute Poverty ? Explain the

causes of poverty in India.

(2) What is Agricultural Marketing ? Explain the defects of

Agricultural Marketing in India.

3. Attempt any one of the following questions : [20]

(1) Explain in detail progress and problems of Sugar Industry in

India.

(2) What is Industrial Dispute ? Explain the causes of Industrial

Dispute.
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4. Attempt any one of the following questions : [20]

(1) What is Economic Planning ? Explain the various types of

Economic Planning.

(2) Explain the salient features of economy of Maharashtra.

5. Write short notes on (any two) : [20]

(1) Developed and Developing Economy

(2) Quality of Population

(3) Causes of Farmer’s Suicide

(4) Cotton Textile Industry in India.

100

 :— (i)

(ii)

(iii)

[20]

(1)

(2)

[20]

(1)

(2)
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[20]

(1)

(2)

[20]

(1)

(2)

[20]

(1)

(2)

(3)

(4)
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[5101]-EXT-116

G-1 : Agricultural Economics

Time : Three Hours Maximum Marks : 100

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any one of the following questions : [20]

(1) Explain the role of Agriculture in Economic Development.

(2) What is the agricultural productivity ? Explain the measures

to high productivity.

2. Attempt any one of the following questions : [20]

(1) What is the Special Economic Zone (SEZ) ? Explain the features

and impact on agriculture.

(2) What is the Agricultural Export and Import Policy ? Explain

the policies since, 2009.

3. Attempt any one of the following questions : [20]

(1) What is the National Rural Employment Guaranty Scheme ?

Explain the nature and evaluation of National Rural Employment

Guaranty Scheme.

(2) Discuss the role of Micro Finance and NABARD in Agricultural

Finance.
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4. Attempt any one of the following questions : [20]

(1) What is the role of farmer in Water Management ? Explain

the types of New Irrigation System.

(2) What is the World Trade Organisation ? Explain the impacts

of WTO on Indian Agricutlure.

5. Write short notes on (any two) : [20]

(1) Organic Farming

(2) Minimum Wages Act

(3) Remedies on Drought

(4) Objectives of World Trade Organisation.

100

 :— (i)

(ii)

(iii)

[20]

(1)

(2)
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[20]

(1)

(2)

[20]

(1)

(2)

[20]

(1)

(2)

[20]

(1)

(2)

(3)

(4)



Total No. of Questions—5+55+55+55+5] [Total No. of Printed Pages—4+24+24+24+2

SeatSeatSeatSeat

No.No.No.No. EXT-[5101]-117EXT-[5101]-117EXT-[5101]-117EXT-[5101]-117

F.Y. B.A. EXAMINATION, 2017F.Y. B.A. EXAMINATION, 2017F.Y. B.A. EXAMINATION, 2017F.Y. B.A. EXAMINATION, 2017

POLITICAL SCIENCEPOLITICAL SCIENCEPOLITICAL SCIENCEPOLITICAL SCIENCE

G1 : Indian Government and PoliticsG1 : Indian Government and PoliticsG1 : Indian Government and PoliticsG1 : Indian Government and Politics

(2013 PATTERN)(2013 PATTERN)(2013 PATTERN)(2013 PATTERN)

Time : Three Hours Maximum Marks : 100Time : Three Hours Maximum Marks : 100Time : Three Hours Maximum Marks : 100Time : Three Hours Maximum Marks : 100

N.B.N.B.N.B.N.B. :— :— :— :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1.1.1.1. Attempt any one question of the following : [20]

(a) Explain the directive principles of state policy in Indian

Constitution.

(b) Explain the salient features of the Indian Constitution.

2.2.2.2. Attempt any one question of the following : [20]

(a) Explain the features of the Indian federalism.

(b) Explain the structure, powers and functions of Lok sabha (House

of People).

3.3.3.3. Attempt any one question of the following : [20]

(a) Describe the structure, powers and functions of Election

Commission of India.

(b) Discuss the problems of regionalism in India.

P.T.O.
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4.4.4.4. Attempt any one question of the following : [20]

(a) Explain the powers, functions and role of the Governor.

(b) Discuss the problem of communalism in Indian politics.

5.5.5.5. Attempt any two short notes of the following : [20]

(a) Fundamental rights

(b) Legislative relations between centre and state

(c) Council of ministers in state.

(d) Issues of development.

100100100100

 :— :— :— :— (i)

(ii)

(iii)

1.1.1.1. [20]

2.2.2.2. [20]
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3.3.3.3. [20]

4.4.4.4. [20]

5.5.5.5. [20]
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EXT-[5101]-117EXT-[5101]-117EXT-[5101]-117EXT-[5101]-117

G1 : MODERN INDIAN POLITICAL THOUGHTG1 : MODERN INDIAN POLITICAL THOUGHTG1 : MODERN INDIAN POLITICAL THOUGHTG1 : MODERN INDIAN POLITICAL THOUGHT

Time : Three Hours Maximum Marks : 100Time : Three Hours Maximum Marks : 100Time : Three Hours Maximum Marks : 100Time : Three Hours Maximum Marks : 100

N.B.N.B.N.B.N.B. :— :— :— :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1.1.1.1. Attempt any one of the following : [20]

(a) Describe justice Ranade’s views regarding British Government.

(b) Explain Mahatma Phule’s views on emancipation of Shudra-

Atishudra.

2.2.2.2. Attempt any one of the following : [20]

(a) Critically evaluate Mahatma Gandhi’s theory of ‘Sarvodaya’.

(b) Explain Lokmanya Tilak’s theory of Nationalism.

3.3.3.3. Attempt any one of the following : [20]

(a) Discuss, Dr. Babasaheb Ambedkar’s views on state socialism.

(b) State, Swatantraveer V.D. Savarkar’s views regarding British

rule in India.

4.4.4.4. Attempt any one of the following : [20]

(a) Explain M.N. Roy’s contribution to Marxism.

(b) State the interpretation of Islam as given by Abul Kalam Azad.
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5.5.5.5. Write notes on (any two) : [20]

(a) Liberalism of Justice Ranade

(b) Doctrine of Sarvajanik Satyadharama

(c) Dr. Babasaheb Ambedkar’s critique of caste system in India

(d) V.D. Sawarkar’s views on ‘Hindutva’.

100100100100

 :— :— :— :— (i)

(ii)

1.1.1.1. [20]

2.2.2.2. [20]

3.3.3.3. [20]
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4.4.4.4. [20]

5.5.5.5. [20]



P.T.O.

Total No. of Questions—5] [Total No. of Printed Pages—3

Seat

No. [5101]-EXT-118

F.Y. B.A. EXAMINATION, 2017

HISTORY (General)

G-1 : Chh. Shivaji and His Times (1630-1707)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 100

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any one of the following questions : [20]

(1) Evaluate the useful Marathi sources for the period of Shivaji.

(2) Explain the concepts ‘Watan’ and ‘Inam’.

2. Answer any one of the following questions : [20]

(1) Describe the causes and importance of the first coronation

of Chh. Shivaji.

(2) Write the information about provincial administration of the

Shivaji’s period.

3. Answer any one of the following questions : [20]

(1) Discuss Chh. Shivaji’s relations with Dutch and French.

(2) Explain the contribution of Chhatrapati Rajaram in the Marathas

War of Independence.
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4. Answer any one of the following questions : [20]

(1) Review the religious life in detail in the period of Chh.

Shivaji.

(2) Elaborate the income sources of the State in the period of

Shivaji.

5. Write short notes on (any two) : [20]

(1) Sardeshmukhi

(2) Jawali Episode

(3) Chh. Sambhaji’s relations with Siddhi

(4) Position of women in the period of Chh. Shivaji.

100

 :— (i)

(ii)

(iii)

[20]

(1)

(2)

[20]

(1)

(2)
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[20]

(1)

(2)

[20]

(1)

(2)

[20]

(1)

(2)

(3)

(4)



P.T.O.

Total No. of Questions—5] [Total No. of Printed Pages—3

Seat

No. [5101]-EXT-119

F.Y. B.A. (External) EXAMINATION, 2017

ANTHROPOLOGY

G-1 : Introduction to Social and Cultural Anthropology

(2013 PATTERN)

Time : Three Hours Maximum Marks : 100

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. What is Culture ? Explain the various elements of culture. [20]

Or

What is Anthropology ? Explain the uses of Anthropology.

2. Describe the various types of modes of acquiring mates among

Adivasis. [20]

Or

Describe the nature of punishment and justice among Adivasis.

3. What is Economic Organisation ? Explain the various characteristics

of primitive economy. [20]

Or

Describe the importance of religion in Tribal community.

4. What is Family ? Discuss the various functions of family. [20]

Or

Describe the types and functions of magic.
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5. Write short notes on (any two) : [20]

(1) Apeman

(2) Joking Relationship

(3) Material Culture

(4) Shaman.

100

 :— (i)

(ii)

(iii)

[20]

[20]

[20]
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[20]

[20]

(1)

(2)

(3)

(4)



P.T.O.

Total No. of Questions—8] [Total No. of Printed Pages—3

Seat

No. [5101]-EXT-120

F.Y. B.A. (External) EXAMINATION, 2017

GEOGRAPHY

Gg-110 : Elements of Geomorphology

(2013 PATTERN)

Time : Three Hours Maximum Marks : 100

N.B. :— (i) Question No. 1 is compulsory.

(ii) Solve any five questions from Question Nos. 2 to 8.

(iii) Draw neat diagrams wherever necessary.

(iv) Use of map stencil is allowed.

1. Answer in 20 words each (any ten) : [20]

(1) Definition of Physical Geography.

(2) Define Longitudes.

(3) What is Standard time ?

(4) What is Sial ?

(5) State two examples of sedimentary rocks.

(6) Define folding.

(7) Define volcano.

(8) Define weathering.

(9) Define faulting.

(10) Write any two erosional landforms of the wind.

(11) What is rectilinear slope ?

(12) Define mass movement.

(13) Define Applied Geomorphology.
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2. Define definition, nature and scope of the Geomorphology. [16]

3. Explain the interior of the earth with suitable diagram. [16]

4. What is Rock ? Explain the types of metamorphic rock. [16]

5. What is faulting ? Explain the types of faulting with diagrams. [16]

6. What is Weathering ? Explain the types of weathering with suitable

examples. [16]

7. Describe the landforms associated with depositional work of

river. [16]

8. What is Mass Movement ? Define the classification of mass

movement. [16]

100

 :— (i)

(ii)

(iii)

(iv)

(v)

[20]

(1)

(2)
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(3)

(4)

(5)

(6)

(7)

(8)

(9)

(10)

(11)

(12)

(13)

[16]

[16]

[16]

[16]

[16]

[16]

[16]



P.T.O.

Total No. of Questions—5] [Total No. of Printed Pages—3

Seat

No. [5101]-EXT-122

F.Y. B.A. (External) EXAMINATION, 2017

PUBLIC ADMINISTRATION

G-1 : Principles of Public Administration

(2013 PATTERN)

Time : Three Hours Maximum Marks : 100

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any one of the following questions : [20]

(1) State the meaning, nature and scope of Public Administration.

(2) Explain the types and budgetary process in India.

2. Attempt any one of the following questions : [20]

(1) Explain the modern approaches to the study of Public

Administration.

(2) State the meaning and importance of Bureaucracy.

3. Attempt any one of the following questions : [20]

(1) Explain the structure and role of Administrative Tribunals in

India.

(2) State the merits and demerits of Hierarchy.
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4. Attempt any one of the following questions : [20]

(1) Explain the types of control over Public Administration.

(2) Explain the functions of Chief Executive in Parliament

System.

5. Write short notes on (any two) : [20]

(1) Training

(2) Staff Unit

(3) Leadership

(4) Promotion.

100

 :— (i)

(ii)

[20]

(1)

(2)

[20]

(1)

(2)
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[20]

(1)

(2)

[20]

(1)

(2)

[20]

(1)

(2)

(3)

(4)



Total No. of Questions—5] [Total No. of Printed Pages—3

Seat

No. [5101]-EXT-123

F.Y. B.A. (External) EXAMINATION, 2017

PSYCHOLOGY

G-1 : General Psychology (Theory)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 100

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams wherever necessary.

1. (a) What is Psychology ? Explain the branches/fields of

Psychology. [20]

Or

(b) Explain the structure and functions of Central Nervous System.

2. (a) Explain in detail the determinants of attention. [20]

Or

(b) Define the motivation. Explain the types of Biological

Motivation.

3. (a) Describe the theories of Emotion. [20]

Or

(b) What is conditioning ? Explain the concept of classical

conditioning.

P.T.O.
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4. (a) Explain the Freud’s Psychoanalytical theory of personality. [20]

Or

(b) Describe the Wechsler Intelligence Scale.

5. Write short notes in 200-250 words (any two) : [20]

(a) Career Avenues in Psychology

(b) Perceptual Illusions

(c) Forgetting

(d) Individual Differences.

100

 :— (i)

(ii)

(iii)

(iv)

1. [20]

2. [20]
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3. [20]

4. [20]

5. [20]



Total No. of Questions—5] [Total No. of Printed Pages—3

Seat

No. [5101]-EXT-124

F.Y. B.A. (External) EXAMINATION, 2017

INTRODUCTION TO GANDHIAN THOUGHT

(2013 PATTERN)

Time : Three Hours Maximum Marks : 100

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Write an essay on autobiography of Mahatma Gandhi. [20]

Or

Explain critically evaluate political thought of Gandhiji. i.e. Doctrine

of Swaraja and Sarvodaya.

2. State and examine the concept of Religion, according to Gandhi. [20]

Or

Explain fully history of Kheda and Bardoli Satyagraha.

3. State meaning of Satyagraha and explain the features of Ideal Satyagrahi

according to Gandhiji. [20]

Or

Explain fearlessness and self-respect as a characteristic of Gandhiji’s

personality.

P.T.O.
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4. Explain and elaborately discuss Gandhiji’s ethical thought of seven

sins. [20]

Or

Explain fully Gandhiji’s role as a Satyagrahi.

5. Evaluate critically Gandhiji’s Doctrine of Ekadasavrata. [20]

Or

Discuss critically Gandhiji’s Doctrine of Swaraja and Ramaraja.

100

 :— (i)

(ii)

(iii)

1. [20]

2.

[20]
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3.

[20]

4. [20]

5. [20]



Total No. of Questions—5] [Total No. of Printed Pages—3

Seat

No. EXT-[5101]-126

F.Y. B.A. (External) EXAMINATION, 2017

HISTORY GENERAL—I

(History of Civilization : Cultural History of Maharashtra

Upto 13th Century)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 100

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any one of the following questions : [20]

(a) Write in detail the concept of civilization.

(b) Discuss the origin of Marathi language.

2. Attempt any one of the following questions : [20]

(a) Discuss the geographical features of Maharashtra.

(b) Explain the social and religious life of Yadav period.

3. Attempt any one of the following questions : [20]

(a) State the salient features of architecture of Vakatak

period.

(b) Explain the importance of sculpture, caves temples and forts

as historical source.

P.T.O.
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4. Attempt any one of the following questions : [20]

(a) Who was Chhatrap ? Give an account of the position of Chhatrap

in Indian Political History.

(b) Explain what is proto-history ? Write the features of Daymabad

and Newasa civilization.

5. Write short notes on (any two) : [20]

(a) Trade routs in ancient Maharashtra

(b) Fairs and festivals of Maharashtra

(c) Inscriptions

(d) Bhakti Movement.

100

 :— (i)

(ii)

1. [20]

2. [20]

3. [20]
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4. [20]

5. [20]



P.T.O.

Total No. of Questions—5] [Total No. of Printed Pages—3

Seat

No. [5101]-EXT-127

F.Y. B.A. (External) EXAMINATION, 2017

HOME ECONOMICS

G-1 : Household and General Economics

(2013 PATTERN)

Time : Three Hours Maximum Marks : 100

N.B. :— (i) All questions are compulsory.

(ii) Diagrams must be drawn wherever necessary.

(iii) Figures to the right indicate full marks.

1. Answer any one of the following questions in 500 words : [20]

(1) What is meant by Market Mechanism ? Explain the functions

of market mechanism.

(2) Explain the functions of money.

2. Answer any one of the following questions in 500 words : [20]

(1) Explain the primary and secondary functions of Commercial

Banks.

(2) Explain the Family Budget with suitable example. State the

difference between family and public budget.

3. Answer any one of the following questions in 500 words : [20]

(1) Explain the different steps and importance of Home

Management.

(2) Explain the sources and importance of Human Values in Human

Life.
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4. Answer any one of the following questions in 500 words : [20]

(1) Explain the merits and demerits of decision-making in Home

Management.

(2) Explain the elements of interior and exterior house decoration.

5. Write short notes on (any two) : [20]

(1) Causes of Poverty in India

(2) Features of Economics Law

(3) Types of Goals with suitable example

(4) Factors which affect decision-making process.

100

 :— (i)

(ii)

(iii)

(iv)

[20]

(1)

(2)

[20]

(1)

(2)
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[20]

(1)

(2)

[20]

(1)

(2)

[20]

(1)

(2)

(3)

(4)



P.T.O.

Total No. of Questions—5+5+5] [Total No. of Printed Pages—9

Seat

No. [5101]-EXT-128

F.Y. B.A. (External) EXAMINATION, 2017

DEFENCE AND STRATEGIC STUDIES

D.S.G.-1 (A) : Defence Mechanism of India

(2013 PATTERN)

Time : Three Hours Maximum Marks : 100

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Trace the growth of Indian Navy since, 1947. [20]

Or

What are the characteristics, role and limitations of the Army ?

2. Explain the principles of Military Organization. [20]

Or

What are the characteristics, role and limitations of Armoured

Corps ?

3. State with the help of chart the Higher Defence Organization

of India. [20]

Or

Explain the characteristics, role and limitations of the Indian

Airforce.
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4. State the characteristics, role and limitations of the Artillery. [20]

Or

Describe the organization of Army Headquarters.

5. Write short notes on (any two) : [20]

(1) Army Ordnance Corps

(2) Chief of Staff Committee

(3) Civil Defence

(4) Assam Rifles.

100

 :— (i)

(ii)

[20]

[20]

[20]
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[20]

[20]

(1)

(2)

(3)

(4)
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[5101]-EXT-128

D.S.G.-1 (B) : Military Thinkers in 19th Century

Time : Three Hours Maximum Marks : 100

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Explain Military thoughts of Clausewitz. [20]

Or

Explain strategic thoughts of A.H. Jomini.

2. State the Military Philosophy and Strategic Approach of H.V.

Moltke. [20]

Or

Explain the Schlieffen Plan.

3. Describe the strategic thoughts of Marshal Foch. [20]

Or

Explain the thoughts of Luddendroff regarding Total War.

4. According to A.T. Mahan, what are the elements of Sea

Power ? [20]

Or

Explain “Mackinder’s Heart Land Theory”.
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5. Write short notes on (any two) : [20]

(1) Lenin

(2) J.F.C. Fuller

(3) General Douhet

(4) Karl Haushofer.

100

 :— (i)

(ii)

[20]

[20]

[20]
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[20]

[20]

(1)

(2)

(3)

(4)
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[5101]-EXT-128

D.S.G.-1 (C) : Post-Cold War India’s Security Environment

Time : Three Hours Maximum Marks : 100

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. What is Globalization ? Explain merits and demerits of

Globalization. [20]

Or

Explain the role of U.N. in Human Right and state the present

problems in Human Rights.

2. Explain in detail the Regional Challenges of India’s Security. [20]

Or

Explain the concept of Terrorism and discuss India’s counter

terrorism policy.

3. Explain the objectives, structure and role of World Trade Organisation

(WTO). [20]

Or

Discuss ‘Emergence of New World Order’.

4. What are the objectives of European Union (E.U.) ? Explain its

role in New Economic Order. [20]
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Or

Explain in detail the objectives and functions of National Counter

Terrorism Center (N.C.T.C.).

5. Write short notes on (any two) : [20]

(1) New International Economic Order (NIEO)

(2) Types of Terrorism

(3) Human Security

(4) NAFTA.

100

 :— (i)

(ii)

[20]

[20]
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[20]

[20]

[20]

(1) (NIEO)

(2)

(3)

(4)



P.T.O.

Total No. of Questions—5] [Total No. of Printed Pages—3

Seat

No. [5101]-EXT-129

F.Y. B.A. (External) EXAMINATION, 2017

SOCIAL WORK

I : Social Reform Movements in India

II : Introduction to Social Welfare and Social Services

(2013 PATTERN)

Time : Three Hours Maximum Marks : 100

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any one question in 500 words : [20]

(1) Discuss in detail the Sarvodaya Movement.

(2) Explain the work of Raja Ram Mohan Roy and Brahmo

Samaj.

2. Answer any one question in 500 words : [20]

(1) Discuss in detail the social services for Scheduled Castes.

(2) Discuss in detail the development of social services in post-

independence period.

3. Answer any one question in 500 words : [20]

(1) Explain the work of Mahatma Gandhi for removal of

Untouchability.

(2) Discuss the planned provisions for social services in India.
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4. Answer any one question in 500 words : [20]

(1) Explain the social services for handicapped.

(2) Discuss the social reformation work by Mahatma Phule.

5. Answer any two questions in 200 to 250 words each : [20]

(1) State the objectives and activities of Antyodaya Movement.

(2) Explain the concepts—Social Work and Social Welfare.

(3) Discuss the activities of Ramakrishna Mission.

(4) Bhoodan Movement.

100

 :— (i)

(ii)

(iii)

[20]

(1)

(2)

[20]

(1)

(2)

[20]

(1)

(2)
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[20]

(1)

(2)

[20]

(1)

(2)

(3)

(4)



Total No. of Questions—5] [Total No. of Printed Pages—8

Seat

No. EXT-[5101]-130

F.Y. B.A. (External) EXAMINATION, 2017

MATHEMATICAL STATISTICS

(Discrete Probability and Probability Distributions)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 100

N.B. :— (i) All questions are compulsory

(ii) Figures to the right indicate full marks.

(iii) Use of Statistical tables and calculator is allowed.

(iv) Symbols have their usual meaning.

(v) Graph paper will be supplied on request.

1. Attempt each of the following :

(A) State whether each of the following statements is true or

false : [1 each]

(i) Bayes’ theorem is used to calculate posterior probabilities

of events.

(ii) A discrete sample space must contain a finite number of

elements.

(iii) A Bernoulli trial is a random experiment which has only

two outcomes.

(iv) Geometric distribution satisfies additive property.

(v) The joint distribution function of (X, Y) is a non-decreasing

function in each of the variables X and Y.

P.T.O.
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(B) Choose correct alternative in the following : [1 each]

(i) A bivariate random variable is discrete if and only

if :

(a) At least one of X and Y is discrete

(b) X is discrete and Y is finite

(c) Both X and Y are discrete

(d) Both X and Y are finite

(ii) A random sample of 5 lucky winners is to be selected

from a group of 10 ladies and 20 men using simple random

sampling with replacement (SRSWR). The number of ladies

lucky winners will follow :

(a) Hypergeometric distribution

(b) Bernoulli distribution

(c) Binomial distribution

(d) Discrete uniform distribution

(iii) If X � NB(k, p) such that E(X) = 15, var(X) = 60,

then :

(a) k = 5, p = 3/4

(b) k = 5, p = 1/4

(c) k = 15, p = 1/2

(d) k = 3, p = 1/5
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(iv) Nine persons sit for a photograph in a row. Find the

probability that a family of three always sits together :

(a) 1/12

(b) 1/24

(c) 1/48

(d) 1/3

(v) For the following probability distribution of r.v. X, the value

of var(X) is :

X P(X)

5000 0.3

5002 0.1

5004 0.3

5006 0.3

(a) 5.76

(b) 16

(c) 10.24

(d) 5003

(C) Answer in brief : [2 each]

(i) State the p.m.f. of negative binomial distribution. State

its mean and variance.

(ii) Compute mode of a binomial distribution for n = 10,

p = 1/3.

(iii) Explain the coefficient of skewness and kurtosis based on

moments.

(iv) State properties of C.G.F.

(v) Define joint distribution function of two-dimensional discrete

random variable. Also, state its properties.
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2. Attempt any four of the following : [4×5=20]

(a) There are 4 boys and 2 girls in room no. 1 and 5 boys and

3 girls in room no. 2. A girl from one of the two rooms

laughed loudly. What is the probability that the girl who laughed

loudly was from room no. 2 ?

(b) Let (X, Y) be a discrete bivariate r.v. with the following joint

p.m.f. :

�

X Y

0 1 2 3

1 5 13 12 14

0 12 16 14 18

1 13 19 16 12

k k k k

k k k k

k k k k

(i) Find k

(ii) var(X|Y = 3).

(c) Explain how the raw moments can be obtained using M.G.F.

(d) Suppose X and Y are two discrete random variables with joint prob-

ability distribution {(X , Y , P ); 1, 2, ......., ; 1, 2, ....., }.
i j ij

i m j n� �

Prove that :

E(X + Y) = E(X) + E(Y).

(e) A group of 20 cricket players contains 7 Maharashtrians and

remaining non-Maharashtrians. An Indian team of 12 players

is to be formed (i) what will be the average number

of Maharashtrians selected in the team ? (ii) what is the

probability that one fourth of the players in the team are

Maharashtrians ?

(f) Derive C.G.F. of b(n, p) distribution.
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3. Attempt any four of the following : [4×5=20]

(a) Define geometric distribution. A machine used to produce milk

cans has a probability of 0.04 of producing a defective milk

can. Find the (i) expected number of good cans produced before

the first defective can. (ii) fourth can produced is the first

defective one.

(b) Define Poisson distribution. Find its mean and variance.

(c) Let X and Y be independent discrete uniform random variables

with parameter n. Obtain the distribution of Z = X + Y.

(d) State and prove additive property for binomial distribution.

(e) Let (X, Y) be a discrete bivariate random variable with the

following joint p.m.f. :

X Y

0 1 2 3

0 3 2 4

1 2 6 4 8

2 3 9 6 12

k k k k

k k k k

k k k k

(i) Find k

(ii) cov(X, Y).
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(f) In a certain school examination result showed that 20% students

failed in Mathematic, 5% failed in English while 10% failed

in both Mathematics and English. Are the two events ‘Failing

in Mathematics’ and ‘Failing in English’ independent ?

4. Attempt any two of the following : [2×10=20]

(a) (i) Define two-dimensional discrete random variable. [2]

(ii) If X and Y are independent Poisson random variables with

means m1 and m2 respectively, then find the conditional

probability distribution of X given X + Y. [8]

(b) (i) Derive M.G.F. of geometric (p) distribution. [5]

(ii) The probability distribution of discrete random variable X

is as follows :

X P(X)

0 0.25

1 0.50

2 0.25

(I) Find probability distribution of W = X – 1.

(II) Find P(X > 0) and P(X > 1|X > 0). [5]

(c) (i) Explain axiomatic definition of probability. [3]

(ii) Suppose A, B and C are three events defined on a sample

space � such that : [7]

P(A) = P(B) = P(C) = 1/4,

P(A �� C) = 1/8, P(A �� B) = P(B �� C) = 0.
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Calculate :

(i) P(A �� B �� C)

(ii) P(A �� C)

(iii) P(A�� �� B� �� C�)

(iv) P(A� �� C�)	

(d) (i) Find the rth factorial moment of hypergeometric distribution

with parameters N, M and n. [6]

(ii) Suppose three balanced coins are tossed simultaneously.

If Y denotes the number of heads, find the probability

distribution of Y. [4]

5. Attempt any one of the following : [1×20=20]

(a) (i) State and prove Bayes’ theorem. [9]

(ii) Among the 200 employees of a company, 160 are union

members and the others are non-union. If four employees

are to be chosen to serve on the staff welfare committee,

find the probability that two of them will be union members

and the others non-union, using (I) hypergeometric dis-

tribution (II) binomial distribution as an approximation (III)

what is the error of the approximation ? [6]

(iii) State classical definition of probability. State its limitations.

[5]
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(b) (i) For the following joint p.m.f. of (X, Y), find k and hence

compute var(10X – 15Y) : [12]

�

X Y

0 1 2

1 12 15 2

0 5 8 15

1 7 8 12

k k k

k k k

k k k

(ii) Suppose X and Y are discrete random variables. [8]

Prove that :

(I) var(aX – bY) = a2var(X) + b2var(Y) – 2 abcov(X, Y)

(II) var(aX + bY) = a2var(X) + b2var(Y) + 2 abcov(X, Y).
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Total No. of Questions—6] [Total No. of Printed Pages—4

Seat

No. [5101]-EXT-131

F.Y. B.A. (External) EXAMINATION, 2017

OPTIONAL ENGLISH

Paper I

[Intreface (English Literature and Language)]

(2013 PATTERN)

Time : Three Hours Maximum Marks : 100

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in about 80 words each

(any three): [15]

(1) Why did Kalam’s father become upset in ‘A Lesson My Father

Taught Me’ ?

(2) What does the author mean by saying that there should be

a ‘Bharat Brand of English’ ?

(3) Draw a character sketch of Leslie.

(4) What was the conflict in Schatz’ mind ? How did his father

resolve it ?

(5) Explain the relationship between Harvey Maxwell and Leslie

as described in ‘The Romance of a Busy Broker’.
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2. (a) Answer the following questions in about 80 words each : [15]

(1) How does the poem, ‘Sonnet 29’ celebrate the presence

of love in the poet’s life ?

(2) How does the poet express his dislikes for the modern

civilization in ‘The World is Too Much with Us’ ?

(3) Discuss ‘The Listeners’ as a poem of magic realism.

(4) How does the poet present the Universality of Human

kind in ‘No Men are Foreign’ ?

(5) Why does William Wordsworth want to become a pagan

in ‘The World is Too Much with Us’ ?

(b) Write short notes on the following (any two) : [10]

(1) Creativity of Human Language

(2) Language as species specific and species uniform

(3) Informative function of language

(4) Directive function of language.

3. Answer the following questions in about 120 words each

(any two) : [16]

(1) Do you agree that ‘Upper Division Love’ is a hard

hitting commend on the Indian Film Industry ? Elaborate your

views.
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(2) Write a note on the central idea of the story “Upper Division

Love”.

(3) How does Chinua Achebe explore the complexities of

Human relationships in his short story ‘Marriage is a Private

Affair’ ?

(4) Does the marriage really remain a private affair in ‘Marriage

is a Private Affair’ ? Substantiate your answer.

4. Answer the following questions in about 120 words each

(any two) : [16]

(1) What request does the speaker make to the sun in ‘The Sun

Rising’ ?

(2) Discuss the dilemma of the traveller in ‘The Road Not

Taken’.

(3) Comment on the structure of the poem “The Ballad of the

Landlord”.

(4) How does R.W. Emerson show that every creature is important

on the earth in “The Mountain and the Squirrel” ?

5. Answer the following questions in about 120 words each

(any two) : [16]

(1) Discuss the tragic ending of ‘Lithuania’ by Robert Brooke.
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(2) How does the play “The Swan Song” by Anton Chekhov represent

the reality in life ?

(3) Comment on the setting of the one act play ‘Lithuania’.

(4) Draw a character sketch of Sviet Lovidoff.

6. (a) Write a note in about in 50 words (any one) : [4]

(1) Phonology and Phonetics

(2) Morphology as a branch of Linguistics.

(b) (1) Identify the number of phonemes in the following words

(any two) : [2]

(i) stroke

(ii) beg

(iii) go

(iv) teach.

(2) Identify the structure of the following words in terms

of C and V (any three) : [3]

(i) Raw

(ii) Eye

(iii) Ice

(iv) Strand

(v) Next.

(3) Give minimal pairs for the following sounds (any three) : [3]
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Total No. of Questions—5] [Total No. of Printed Pages—3

Seat

No. EXT-[5101]-133

F.Y. B.A. (External) EXAMINATION, 2017

COMMERCE

(Organisation of Commerce)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 100

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Explain in detail ‘Trade’, ‘Commerce’ and ‘Industry’. [20]

Or

Explain importance and types of international trade.

2. State the functions of wholesaler and retailer. [20]

Or

Describe the stages of evolution of money.

3. Explain objectives, advantages and limitations of marketing. [20]

Or

State the role of Advertising in Modern Business.

4. Explain classification of different advertising media. [20]

Or

State the functions of marketing.

P.T.O.
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5. Write short notes on (any two) : [20]

(a) Advertising as a marketing tool

(b) Types of insurance

(c) Modern concept of marketing

(d) Elimination of wholesaler.

80

 :— (i)

(ii)

(iii)

1. [20]

2. [20]

3. [20]

4. [20]
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5. [20]



Total No. of Questions—5] [Total No. of Printed Pages—3

Seat

No. [5101]-EXT-134

F.Y. B.A. (External) EXAMINATION, 2017

G-1 : EDUCATION

(2013 PATTERN)

Time : Three Hours Maximum Marks : 100

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any one question in 500 words : [20]

(a) Explain the nature, advantages and limitations of Experimental

method.

(b) Describe the nature and aims of education in ancient India.

2. Answer any one question in 500 words : [20]

(a) Describe the nature of primary education. Explain the problems

in primary education, in detail.

(b) What is Family ? Explain the functions of family in detail.

3. Answer any one question in 500 words : [20]

(a) Explain the role of education in economical development.

(b) What is value education ? Explain the importance of value

education, with examples.

P.T.O.
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4. Answer any one question in 500 words : [20]

(a) Explain the meaning of education. Describe the characteristics

of education process.

(b) Explain the educational thought of Swami Vivekananda.

5. Write short notes on the following in 200-250 words each

(any two) : [20]

(a) Objectives of education as per National Policy of Education

1986

(b) Concept of informal education

(c) Nature of Educational Psychology

(d) Nature of ‘Vishwabharati’.

100

 :— (i)

(ii)

1. [20]

2. [20]
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3. [20]

4. [20]

5. [20]



P.T.O.

Total No. of Questions—5] [Total No. of Printed Pages—6

Seat

No. [5101]-EXT-135

F.Y. B.A. EXAMINATION, 2017

FMG-I : INDUSTRIAL MATHEMATICS

(For External Students)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 100

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Use of calculator is allowed.

1. Attempt each of the following : [20]

(a) Solve the quadratic equation :

x2 + 19x – 66 = 0.

(b) Find the slope and x intercept of the linear equation :

3y + 15x = 30.

(c) Evaluate the limit :

2

26

4 2 8
lim .

5 6x

x x

x�

� �

�

(d) Find the derivative of f(x) = 18 x  at x = 2.

(e) Define the term : Optimization.
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(f) Find the dimension of the matrix A and find its transpose,

where :

1 9 6

A = .

4 9 2

� �
� �
� �
� 	

(g) Find the multiplication AB of the following matrices :

2

A = 9 11 3 , B = 6 .

7

� �
� �
� �
� �
� �
� �� 	

(h) Determine the following integral :

5/2 .x dx�

(i) Define term : Slack variable.

(j) Convert the following inequality constraints into equations :

2y1 + 5y2 � 40

4y1 + y2 � 20

6y1 + 4y2 � 30.

2. Attempt any four of the following : [20]

(a) Sketch the graph :

f(x) = (2x – 7)3.

(b) Let f(x) = 
2

3

9

x

x

�

�
, x 
 ± 3. Also given that f(–3) = 

1

6
. Is

f continuous at x = –3 ?



[5101]-EXT-135 3 P.T.O.

(c) Use implicit differentiation to find the derivative 
dy

dx
 of the

following equation :

2
3 52 7 .x y x� �

(d) Test to see if the following function is concave or convex

at x = 3 :

225 8 .y x� �

(e) For the function y = (5 – x)4

(i) investigate the successive derivatives and

(ii) evaluate them at x = 3.

(f) Prove that the marginal cost (MC) must equal to marginal

revenue (MR) at the profit-maximizing level of output.

3. Attempt any two of the following : [20]

(a) Faced with two distinct demand functions :

Q1 = 24 – 0.2P1,

Q2 = 10 – 0.05P2

where TC = 35 + 40Q, what price will the firm charge with

discrimination.

(b) Given f(x) = g(x) · h(x), where g�(x) and h�(x) both exist, prove

that the product rule by demonstrating that :

f �(x) = g(x) · h�(x) + h(x) · g�(x).

Also compute y� and y��, given that y = 
27

1

x

x �
.
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(c) Use the MR = MC method to :

(i) Maximize profit � and

(ii) Check the second-order conditions, given :

TR = 1400Q – 7.5Q2,

TC = Q3 – 6Q2 + 140Q + 750.

4. Attempt any four of the following : [20]

(a) Define the terms : Symmetric matrix, Idempotent matrix and

Null matrix.

(b) Check whether A(B + C) = AB + AC, where :

6 9

A = 4 7 2 , B = 5 , C = 5 .

1 8

� � � �
� � � �
� � � �
� � � �
� � � �
� � � �� 	 � 	

(c) Evaluate :

2

3

3 2
.

4 8

x
dx

x x

�

�

(d) The rate of net investment is I = 60t1/3, and capital stock

at t = 1 is 85. Find the function for capital K.

(e) State the extreme point theorem. Also state the basic theorem

of linear programming.
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(f) Solve the following linear programming problem :

Minimize : c = 3y1 + 4y2

Subject to : 2y1 + 3y2 � 36

2y1 + 2y2 � 28

8y1 + 2y2 � 32

y1, y2 � 0.

5. Attempt any two of the following : [20]

(a) Solve the following linear system, using the Gaussian elimination

method :

3x1 + 2x2 + 6x3 = 24

2x1 + 4x2 + 3x3 = 23

5x1 + 3x2 + 4x3 = 33.

(b) Using the data below :

(i) Graph the inequality constraints after solving each for

g2 in terms of g1.

(ii) Regraph and darken in the feasible region.

(iii) Compute the slope of the feasible region. Set a ruler

with this slope, move it to the point of contact with

the feasible region, and construct a dashed line.
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(iv) Read the critical values of g1 and g2 at the point of

contact, and evaluate the objective function at these

values :

Maximize : � = 24g1 + 8g2

Subject to : 2g1 + 5g2 � 40

4g1 + g2 � 20

10g1 + 5g2 � 60

g1, g2 � 0.

(c) Marginal cost is given by MC = 
TC

Q

d

d
 = 25 + 30Q – 9Q2.

Fixed cost is 55. Find the :

(i) total cost,

(ii) average cost, and

(iii) variable cost functions.



Total No. of Questions—5] [Total No. of Printed Pages—6

Seat

No. [5101]-EXT-137

F.Y. B.A. (External) EXAMINATION, 2017

MATHEMATICS

General Paper I

MG-1 : Algebra and Geometry

(2013 PATTERN)

Time : Three Hours Maximum Marks : 100

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt each of the following : [20]

(a) If a|b and b|c, then show that a|c.

(b) Find all pairs i  and j  such that :

. 1i j �

in Z6.

(c) Use factor theorem to determine whether ( ) 3g x x� �  is a factor

of :

3( ) 3 4 2f x x x� � � .

P.T.O.
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(d) Find the eigen values of the matrix :

2 4
A

0 3

� �
� � �
� �� 	

.

(e) Reduce the matrix :

2 4
A

3 6

� �
� � �
� �� 	

to row echelon form.

(f) Determine the nature of the conic :

2 24 2 10 4 0x xy y x y� � � � � .

(g) Find the distance of a point p(4, 3, 1) from the plane :

2 2 1 0x y z� � � � .

(h) Find the equation of a line joining two points :

(–2, 1, 3) and (3, 1, –2).

(i) Find the equation of a tangent plane at the point (3, 2, –2)

to the sphere :

2 2 2 9x y z� � � .

(j) Define cone.

2. Attempt any four of the following : [20]

(a) Using principle of mathematical induction, prove that for every

positive integer n, n3 – n is divisible by 3.
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(b) If

(mod )a b n
  and (mod )c d n
 ,

then show that :

(i) (mod )a c b d n� 
 �

(ii) (mod )ac bd n
 .

(c) Let z be the set of integers. Given , Za b �  define a ~ b if

a – b is an even integer. Show that  ~ is an equivalence

relation.

(d) State and prove remainder theorem for polynomials.

(e) Determine the values of � so that the system of linear

equations :

6x y z� � �

2 3 10x y z� � �

2 9x y z� � � �  has

(i) no solution

(ii) unique solution.

(f) Verify Cayley-Hamilton theorem for the matrix :

2 1
A

5 4

� �� �
� � �
� �� 	

.
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3. Attempt any two of the following : [20]

(a) State and prove division algorithm for integers.

(b) (i) If a is any intger then prove that :

2 0 (mod 4)a 
  or 2 1 (mod 4)a 


depending on whether a is even or odd respectively.

(ii) List all integers x in the range 1 100x
 
  that satisfy

7 (mod 17)x 
 .

(c) (i) Solve the system of equations :

 x + 2y + z = 3

2x + 3y + 3z = 10

 3x – y + 2z = 13.

(ii) Solve :

3 28 36 46 15 0x x x� � � � ,

given that the roots are in arithmetic progression.

4. Attempt any four of the following : [20]

(a) Derive an equation of plane in intercept form.

(b) Show that the lines :

1 6 2

1 5 1

x y z� � �
� �

� � �
 and

1 3 5

1 4 2

x y z� � �
� �

�

intersect.
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(c) Find the condition under which the plane :

lx my nz p� � �

is a tangent plane to the standard sphere 2 2 2 2x y z a� � � .

Also find the point of contact.

(d) Show that the line :

1 2 5

2 3 4

x y z� � �
� �

�
,

lies on the plane 2 0x y z� � � .

(e) Find the equation of the sphere passing through the circle

of intersection of :

2 2 2 6 4 6 14 0x y z x y z� � � � � � �

and the plane 0x y z� � �  and passing through the point

(1, 1, –1).

(f) Find the equation of the cone whose vertex is (1, 1, 2) and

guiding curve is the ellipse :

2 2

1, 0
4 2

x y
z� � � .

5. Attempt any two of the following : [20]

(a) Reduce the equation :

2 25 6 5 10 6 3 0x xy y x y� � � � � �

to the standard form and hence name the conic.
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(b) (i) Suppose U = 0 and V = 0 are intersecting planes. Show

that for all real values of �, equation U + �V = 0 represents

a plane passing through the line of intersection of planes

U = 0 and V = 0.

(ii) Show that the equation :

2 2 212 2 6 2 7 6 0x y z xy yz zx� � � � � �

represents a pair of planes. Also find the angle between

them.

(c) Find the angle between two lines whose direction cosines are

l, m, n and l', m', n'. Also find the condition of perpendicularity

and parallel.
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Total No. of Questions—5] [Total No. of Printed Pages—8

Seat

No. [5101]-EXT-138

F.Y. B.A. (External) EXAMINATION, 2017

STATISTICAL PRE-REQUISITES

(2013 PATTERN)

Time : Three Hours Maximum Marks : 100

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Use of statistical tables and calculator is allowed.

(iv) Symbols have their usual meanings.

(v) Graph paper will be supplied on request.

1. Attempt each of the following :

(A) State whether each of the following statements is true or

false : [1 each]

(1) The coefficient of variation is not dependent on measuring

unit.

(2) The frequencies of higher order classes are ultimate class

frequencies.

(3) For symmetric distribution, mean > median > mode.
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(4) Stratified random sampling method is applicable if population

is homogeneous.

(5) Index number for base period is greater than 100.

(B) Choose the correct alternative for each of the following : [1 each]

(1) The Bowley’s coefficient of skewness lies between :

(a) 0 and 1

(b) –1 and 1

(c) 0 to �

(d) – � to �

(2) The mean of 10 observations is 5. If each observation

is increased by 5, then mean of new series is :

(a) 3

(b) 5

(c) 7

(d) 10

(3) We can find the value of median graphically by

using :

(a) Histogram

(b) Box plot

(c) Frequency curve

(d) Ogive curve
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(4) For the frequency distribution the mean and standard

deviation are –100 and 50 respectively, then coefficient

of variation is :

(a) –2

(b) –50

(c) 2

(d) 50

(5) First central moment of the distribution is :

(a) Mean

(b) Zero

(c) Mode

(d) Median

(C) Answer in brief : [2 each]

(1) State any two merits of mode.

(2) Define ordinal scale with one illustration.

(3) Find harmonic mean of 12, 15, 17, 16 and 14.

(4) Define Karl Pearson’s coefficient of skewness.

(5) Define the term dichotomy with one illustration.

2. Attempt any four of the following : [4×5=20]

(1) Explain any two considerations in the construction of consumer’s

price index numbers.
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(2) Distinguish between SRSWOR and SRSWR.

(3) Write a note on association of attributes.

(4) The frequency distribution of daily expenditure (in Rs.) by students

is as given below :

Expenditure No. of Students

0—10 5

10—20 15

20—30 12

30—40 10

40—50 8

Draw less than ogive curve and hence determine 3rd decile.

(5) Calculate 60th percentile from the following frequency

distribution :

Class Frequency

10—20 6

20—30 26

30—40 47

40—50 15

50—60 6

(6) Information about the player A and B are as below :

No. of Mean Standard

Matches Score Deviation

Player A 10 200 8

Player B 8 250 9

(i) Which player is more consistent ?

(ii) Find combine mean.
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3. Attempt any four of the following : [4×5=20]

(1) Write a note on Spearman’s rank correlation coefficient.

(2) Explain the concept of residual.

(3) The frequency distribution of marks obtained by 50 students

is as given below :

Marks No. of Students

0—20 5

20—40 15

40—60 12

60—80 10

80—100 8

Compute median of the above distribution.

(4) From the information given below, compare the skewness of

two groups using suitable measure of skewness :

Mode Mean Standard

Deviation

Group A 330 350 10

Group B 320 327 12

(5) Calculate Fisher’s price index number for the following data

for year 2014 taking 2010 as a base year :

Commodity Year 2010 Year 2014

Price Quantity Price Quantity

A 40 16 50 14

B 50 15 60 13

C 60 18 80 12

(6) State the condition of consistency for three attributes.
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4. Attempt any two of the following : [2×10=20]

(1) Compute mean deviation about mean for the following

data : [10]

Class Frequency

100—150 3

150—200 5

200—250 12

250—300 20

300—350 10

(2) (i) Write a note on population and sample. [5]

(ii) The following is the distribution of monthly income (in

’000 Rs.) of 100 workers : [5]

Income No. of Workers

0—5 10

5—10 20

10—15 30

15—20 24

20—25 16

Compute coefficient of variation for the above distribution.
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(3) Compute Karl Pearson’s coefficient of correlation between X

and Y from the data given below : [10]

X Y

69 163

64 151

68 176

63 162

68 158

65 171

63 153

75 182

60 154

(4) (i) State relation between first four raw and central

moments. [4]

(ii) Compute geometric mean for the following data : [6]

Class Frequency

10—30 12

30—50 18

50—70 25

70—90 10

90—110 3
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5. Attempt any one of the following : [1×20=20]

(1) (i) Explain the term skewness and kurtosis. [10]

(ii) Fit a second degree parabola to the data given below

by taking Y as dependent variable : [10]

X Y

1 163

2 151

3 176

4 162

5 158

(2) (i) Define index numbers and explain the terms base shifting

and splicing. [10]

(ii) Examine the consistency of the following data : [10]

    N = 100, (A) = 410, (B) = 39, (C) = 41,

(AB) = 38, (AC) = 33, (BC) = 37



P.T.O.

Total No. of Questions—5] [Total No. of Printed Pages—8

Seat

No. [5101]-EXT-139

F.Y. B.A. (External) EXAMINATION, 2017

LOGIC

G-1 : Introduction to Logic and Principles of Reasoning

(2013 PATTERN)

Time : Three Hours Maximum Marks : 100

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. (A) Symbolize the following propositions using the symbols given

in bracket : [10]

(1) The car runs only if there is fuel in its tank. (R, F)

(2) Either he will study or exercise. (S, E)

(3) Ramesh is not writing and reading is well. (W, R)

(4) It is not true that India is not aggressive. (I)

(5) If you study then you will pass. (S, P)

(B) Explain in detail the Inductive and Deductive branches of

Logic. [10]

Or

(A) Explain about modern classification of proposition. [10]
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(B) Determine whether the following statement forms are tauto-

logous, contradictory or contingent with the help of truth table,

shorter truth table and truth tree method : [10]

(1) (P � Q) �� (~ P �� Q)

(2) ~~ A �� ~ B

(3) (A �� B) . B

(4) Q . (P . ~ P).

2. (A) Explain the distribution of terms in A, E, I and O

propositions. [10]

(B) Demonstrate the invalidity of the following arguments : [10]

(1) ~ E �� ~ F

~(G . H) �� (E �� F)

H �� G

/� ~~ G

(2) P �� (Q �� R)

~(~ P �� ~ Q)

/� ~ R �� ~ Q

Or

(A) Explain the method of indirect proof of validity with

examples. [10]
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(B) Prove validity of the following arguments : [10]

(1) 1. ~~ L �� ~ (J �� K)

2. L /� ~ J

(2) 1. ~ B �� ~ A

2. B �� D

3. ~ D/� ~ A

3. (A) Explain four figures of the categorical syllogism and give

examples. [10]

(B) Convert and obvert the following propositions : [10]

(1) All that glitters is not gold.

(2) Some politicians are honest.

(3) Some books are readable.

(4) Some animals are not active.

(5) All teachers are brilliant.

Or

Explain the nature, scope and subject matter of logic. [20]

4. (A) If [10]

U = {1, 2, 3, 4, 5, 6, 7}

        A = {1, 2},        B = {1, 3, 5},

          C = {2, 3, 5, 7} and D = {4, 5, 6, 7}
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Then list the elements of the following sets :

(1) A �� B

(2) C �� B

(3) C �� D

(4) ~ A �� ~ B

(5) D �� A.

(B) What is a set ? Explain types of set. [10]

Or

What is the concept of fallacy ? Explain any five formal fallacies. [20]

5. Write short notes on any four of the following : [20]

(1) Deductive Inference

(2) Conversion

(3) Fallacy of division

(4) Universal set

(5) Simple proposition

(6) Rules of Inference (any two).

100

 :— (i)

(ii)

(iii)
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[10]

(1) (R, F)

(2) (S, E)

(3) (W, R)

(4) (I)

(5) (S, P)

[10]

[10]

[10]

(1) (P � Q) �� (~ P �� Q)

(2) ~~ A �� ~ B

(3) (A �� B) . B

(4) Q . (P . ~ P).

A, E, I  O [10]
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[10]

(1) ~ E �� ~ F

~(G . H)� � (E �� F)

H �� G

/� ~~ G

(2) P �� (Q �� R)

~(~ P �� ~ Q)

/� ~ R �� ~ Q

[10]

[10]

(1) 1. ~~ L �� ~ (J �� K)

2. L /� ~ J

(2) 1. ~ B �� ~ A

2. B �� D

3. ~ D/� ~ A

[10]

[10]

(1)



[5101]-EXT-139 7 P.T.O.

(2)

(3)

(4)

(5)

[20]

[10]

U = {1, 2, 3, 4, 5, 6, 7}

        A = {1, 2},        B = {1, 3, 5},

          C = {2, 3, 5, 7}  D = {4, 5, 6, 7}

(1) A �� B

(2) C �� B

(3) C �� D

(4) ~ A �� ~ B

(5) D �� A.

[10]

[20]
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[20]

(1)

(2)

(3)

(4)

(5)

(6)
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F.Y. B.A. (External) EXAMINATION, 2017

SOCIOLOGY

G-1 : Introduction to Sociology

(2013 PATTERN)

Time : Three Hours Maximum Marks : 100

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any one of the following questions : [20]

(1) Discuss the characteristics of primary groups.

(2) Explain the types of social mobility.

2. Answer any one of the following questions : [20]

(1) Explain the elements of culture.

(2) What is social change ? Discuss the factors of social change.

3. Answer any one of the following questions : [20]

(1) What is social control ? Explain the types of social control.

(2) Define social institutions and explain the characteristics of social

institutions.

4. Answer any one of the following questions : [20]

(1) Define sociology and discuss the scientific nature of Sociology.

(2) Explain the relevance of sociology in contemporary society.
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5. Write short notes on any two : [20]

(1) Sociology as a profession

(2) Reference group

(3) Subject matter of Sociology

(4) Gender.

100

 :— (i)

(ii)

(iii)

[20]

(1)

(2)

[20]

(1)

(2)

[20]

(1)

(2)
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[20]

(1)

(2)

[20]

(1)

(2)

(3)

(4)
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Seat
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ANCIENT INDIAN HISTORY, CULTURE AND ARCHAEOLOGY
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(Outline of Pre-History, Proto-History and Early History)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 100

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any one of the following questions : [20]

(1) Describe the literary sources of Ancient Indian History.

Or

(2) Discuss the features of the Mesolithic Age.

2. Answer any one of the following questions : [20]

(1) Explain the town-planning of Harappan civilization.

Or

(2) Discuss the types of Megalithic Burials.

3. Answer any one of the following questions : [20]

(1) What is Second Urbanization ? Write the economic conditions

during the second urbanization.

Or

(2) Discuss the achievements of Samrat, Ashoka.
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4. Answer any one of the following questions : [20]

(1) Describe the southern campaign of Samudragupta.

Or

(2) Discuss the contribution of the Rashtrakutas.

5. Write short notes on any two : [20]

(1) Medieval History

(2) Heritage concept

(3) Alexander

(4) Pallava-Saptaratha Temples.

100

 :— (i)

(ii)

[20]

(1)

(2)

[20]

(1)

(2)
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[20]

(1)

(2)

[20]

(1)

(2)

[20]

(1)

(2)

(3)

(4)
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STATISTICS
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N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Symbols and abbreviations have usual meanings.

(iv) Use of calculator and statistical table is allowed.

(v) Graph paper will be provided on request.

1. Attempt each of the following :

(A) State whether the following statements are true or

false : [1 each]

(1) Coefficient of determination should be greater than

unity.

(2) Sum of deviations of all observations about its mean is

zero.

(3) Karl Pearson’s correlation coefficient is lies between

0 to 1.

(4) First central moment is equal to mean.

(5) Index numbers are called as economic parameter.
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(B) Choose the correct alternative : [1 each]

(1) Spearman’s rank correlation coefficient is always lies

bewteen :

(a) (–1, +1)

(b) (0, 1)

(c) (– �, + �)

(d) None of the above

(2) Which of the following is good measure of dispersion ?

(a) Mean

(b) Median

(c) Mode

(d) Standard deviation

(3) If

Corr(X, Y) = 0.8,

then

Corr(X + 3, Y – 3)

is :

(a) 0.8

(b) 0.16

(c) –0.8

(d) 0.9
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(4) Box plot helps to judge the :

(a) Central Value

(b) Spread

(c) Symmetry

(d) None of the above

(5) Mean squared deviation about its ....................................

is minimum.

(a) mean

(b) mode

(c) median

(d) 0

(C) Answer in brief : [2 each]

(1) Given

� � �x = 1, �y = 2 and

Corr(X, Y) = 0.7.

Obtain Var(X – 3Y).

(2) Define positive and negative skewness with one example

each.

(3) Is the following information consistent ? Justify :

1m�  = 1, 2m�  = 12, 3m�  = 20, 4m�  = 40.
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(4) If A.M. and G.M. of two observations are 5 and 2.5

respectively. Find their Harmonic mean.

(5) If coefficient of variation is 60% and standard deviation

is 4, find the arithmetic mean.

2. Attempt any four of the following : [4×5=20]

(1) Find standard deviation for the following data :

Age Students

10—12 5

12—14 22

14—16 40

16—18 30

18—20 3

(2) With usual notations, show that for any distribution S.D. �

M.D. about mean.

(3) For a frequency distribution, Bowley’s coefficient of skew-

ness is 0.6. The sum of first and third quartiles is 100 and

the median is 38. Find the two quartiles and construct Box

plot.
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(4) For two attributes A and B if

N = 2000, (A) = 400, (�B) = 40, (�) = 50,

verify whether the data is consistent ?

(5) Given

x – 4y = 5

is line of regression in which x is independent variable then

estimate y for x = –1 and find the corresponding regression

coefficient.

(6) With usual notations, show that :

–1 � r � +1.

3. Attempt any four of the following : [4×5=20]

(1) Write a short note on scatter diagram.

(2) What is measures of central tendency ? What are its

characteristics of good measure of central tendency ?

(3) Suppose X, Y and Z are uncorrelated variables with same

S.D. (�). Obtain the correlation coefficient between (X + Y)

and (Y + Z).

(4) Define Yule’s coefficient of association (Q), with usual notations

show that :

–1 � Q � +1.
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(5) Find an appropriate index number for the following data :

Device Average annual price Quantity sold

in thousands in 2016 in

2014 2016 thousands

Iphone 50 47 35

Laptop 30 25 23

IED 45 30 45

(6) What is skewness ? What are its various measures of

skewness ?

4. Attempt any two of the following : [2×10=20]

(1) What is Index Number ? What are the problems in the construction

of index numbers ?

(2) Given n pairs of observations

(xi, yi) i = 1, 2, ....., n,

explain the procedure of fitting of simple linear model of the

type

     Y = a + bX + 	, with

E(	) = 0, V(	) = �2

estimate the parameters ‘a’ and ‘b’ by method of least

square.
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(3) (i) Define variance in case of discrete data and explain the

effect of change of origin and scale on it.

(ii) Find Spearman’s rank correlation coefficient for the following

data :

Participant Rank by Rank by

judge A judge B

A 5 1

B 1 4

C 2 5

D 4 3

E 3 2

(4) (i) Calculate Fisher’s price index number for the following

information :


p0q0 = 166      
p0q1 = 107


p1q0 = 207      
p1q1 = 134.

(ii) Splice the two series by continuing series A forward and

continuing series B backward for the following series of

index numbers :

Year Series A Series B

2008 100 —

2009 120 —
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2010 150 100

2011 — 135

2012 — 170

2013 — 200

5. Attempt any one of the following : [1×20=20]

(1) (i) Given the following information on price of a commodity :

Solapur Kolhapur

Average price 65 60

S.D. of price 2.5 3.5

And r = 0.8. Find most likely price in Kolhapur cor-

responding to price of Rs. 75 in Solapur. [7]

(ii) Explain the procedure of fitting of the curve

Y = a + bX + cX2

by the method of least square. [7]

(iii) If X and Y are uncorrelated variables and [6]

Var (X) = k and Var (Y) = 2,

find k such that :

Var (4X – 2Y) = 25.
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(2) (i) With usual notations prove that for symmetrical distri-

bution : [7]

23
2 1

1

2
m

m m
m

� � �
 � �� �� �� .

(ii) Construct Box plot for the age of 20 persons in kgs

are given below : [7]

        50, 18, 22, 32, 36, 44, 13, 28, 21, 38,

        30, 35, 39, 40, 29, 43, 48, 52, 60, 33.

(iii) Given A and B are the independent attributes then show

that :

(a) � and � are also independent

(b) A and � are also independent. [6]
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1. Attempt each of the following : [20]

(a) Find the rational number between 2  and 3 .

(b) If

lim ,
x a

f x k
�

�

then prove that :

lim .
x a

f x k
�

�

(c) Show that equation 2xx – 1 = 0 has at least one root in

(0, 1).

(d) Show that the function y = xe–x satisfies the equation :

xy� = (1 – x)y.
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(e) Evaluate :

log
lim .
x

x

x��

(f) Evaluate :

/ 2

8

0

sin .xdx

�

�

(g) Evaluate :

2

1
.

9
dx

x ��
(h) Define the order and degree of differential equation.

(i) Define orthogonal trajectory and self orthogonal trajectory.

(j) Find integrating factor of the differential equation :

2 2 0.x y x dx xydy� � � �

2. Attempt any four of the following : [20]

(a) Write all field axioms of real numbers.

(b) Suppose g(x) 	 f(x) 	 h(x), for all x in some deleted neighbourhood

of a point x = a. Prove that if :

lim lim L
x a x a

g x h x
� �

� � ,

then

lim L.
x a

f x
�

�
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(c) Find the real numbers 
 and � if the function f is continuous

at every point of (–3, 5) where :

, 3 1

3 2 , 1 3 .

, 3 5

x x

f x x x

x x

� 
 � � �

�
�� � 	 ��
�
� � � 	 ��

(d) Prove that if f is derivable at a point x = a, then f is continuous

at x = a. Is converse true ? Justify your answer with

suitable example.

(e) State and prove Rolle’s mean value theorem.

(f) Evaluate :

2

0
lim log .

x
x x

��

3. Attempt any two of the following : [20]

(a) State and prove Leibnitz’s rule. Using it find nth derivative

of y = x3 cos x.

(b) (i) Verity Lagrange’s Mean Value Theorem for the

function :

f(x) = log x on [1, e].

(ii) If x = tan(log y), then prove that :

2
1 11 2 1 1 0.n n nx y nx y n n y� �� � � � � �
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(c) (i) Assuming validity of expansion, find the expansion of sin x.

(ii) Evaluate :

0

1 1
lim .

1xx x e�

� �
�� ��� �

4. Attempt any four of the following : [20]

(a) Evaluate :

2

2 3
.

11 30

x
dx

x x

�

� ��
(b) Evaluate :

2

6 3
.

4 2

x
dx

x x

�

� ��
(c) Evaluate :

2

2

3 2
.

1 1

x x
dx

x x

� �

� ��
(d) Solve :

y(x + y + 1)dx + x(x + 3y + 2)dy = 0.

(e) Solve :

2 2 2 24 2 5 2 0.x y xy xdy x y xy ydy� � � � � �

(f) Show that the family :

2 2

2 2
1

x y

a b
� �

� � � �

is self orthogonal, where � is parameter.
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5. Attempt any two of the following : [20]

(a) Derive an expression for the reduction formula :

/ 2

0

cosn x dx

�

�
hence evaluate :

/2

7

0

cos .x dx

�

�
(b) (i) If Mdx + Ndy = 0 is homogeneous differential equation,

then prove that 
1

M Nx y�  is an integrating factor, provided

that Mx + Ny � 0.

(ii) Solve :

(3xy + 3y)dx + (x + 1)2dy = 4.

(c) (i) Explain the method of solving homogeneous differential

equation of first degree and first order :

,
.

,

f x ydy

dx g x y
�

(ii) Prove that the necessary and sufficient condition for the

differential equation :

Mdx + Ndy = 0

to be exact is :

M N
.

y x

� �
�

� �
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1. Attempt each of the following :

(A) State whether each of the following statements is true or

false : [1 each]

(1) Sampling method is useful to collect only primary

data.

(2) The deviations of the items in raw moments always measured

from zero.

(3) When A and B are positively associated then � and �

are negatively associated.

(4) Correlation coefficient is unitless quantity.

(5) Consumer price index number uses only one commodity.
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(B) Choose the correct alternative in the following : [1 each]

(1) Paasche’s index number suffer from :

(a) upward bias

(b) downward bias

(c) either upward or downward bias

(d) no bias

(2) Correlation measures the extent of :

(a) parabolic relation between two variables

(b) linear relation between two variables

(c) logarithmic relation between two variables

(d) exponential relation between two variables

(3) Which one of the following gives that the attributes A

and B are independent ?

(a) N = 500, (A) = 300, (B) = 300, (AB) = 185

(b) N = 500, (A) = 300, (B) = 300, (AB) = 175

(c) N = 500, (A) = 300, (B) = 300, (AB) = 300

(d) N = 500, (A) = 300, (B) = 300, (AB) = 180



[5101]-EXT-144 3 P.T.O.

(4) The first four raw moments of a frequency distribution

are 2, 20, 40 and 200 respectively, then :

(a) the distribution is positively skewed

(b) the distribution is negatively skewed

(c) the distribution is symmetric

(d) inconclusive

(5) Random sample is :

(a) 10% of population

(b) part of population

(c) 5% of population

(d) at least 50% of population

(C) Answer in brief : [2 each]

(1) Find less than cumulative frequencies and more than

cumulative frequencies for the following frequency

distribution :

Class Frequency

70—75 5

75—80 12

80—85 43

85—90 32

90—95 8
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(2) Given that :

�(x – 10) = 230 and n = 50.

Find arithmetic mean.

(3) Explain the concept of independence and association of

two attributes.

(4) Explain the meaning of regression.

(5) Explain uses of cost of living index number.

2. Attempt any four of the following : [4×5=20]

(1) Explain the concept of skewness of frequency distribution. For

a moderately symmetric distribution the arithmetic mean, median

and Karl Pearson’s coefficient of skewness are 86, 80 and 0.42

respectively. Find mode and coefficient of variation (C.V.).

(2) State the formula of combined standard deviation for k groups.

The mean and standard deviation of 10 observations were 9.5

and 2.5 respectively. If one more observation with value 15

is included in the group, obtain the mean and standard deviation

of these 11 observations.

(3) Explain the concept of dispersion. State characteristics of good

measure of dispersion.
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(4) Draw histogram for the following data and hence determine

mode graphically :

Age-group (in years) Population

0—5 500

5—20 2100

20—30 2200

30—40 2000

40—60 1600

60—100 400

(5) Explain uses of weighted means. The prices of tea of grade

I and grade II are Rs. 200 per kg. and Rs. 150 per kg. respectively.

If these two grades of tea are mixed together in the ratio

3 : 2, find the average price of mixture.

(6) Explain notion of a sample. Explain how the samples are drawn

using systematic sampling method.

3. Attempt any four of the following : [4×5=20]

(1) Explain various scales of measurement with illustrations.

(2) Explain raw moments rm�  and central moments rm

for ungrouped and grouped data upto 4th order. Also, state

relation between central moments and raw moments upto 3rd

order.
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(3) Explain the concept of kurtosis and its different types. Given

that :

�2 = 2.6 and µ2 = 1.2.

Find µ4.

(4) Define geometric mean and harmonic mean. State merits and

demerits of geometric mean and harmonic mean.

(5) Calculate coefficient of variation (C.V.) of marks scored by 10

candidates given below :

54, 61, 64, 69, 58, 56, 49, 57, 55, 50.

(6) Obtain mean deviation about median for the following frequency

distribution :

Class Frequency

2—4 3

4—6 4

6—8 2

8—10 1

4. Attempt any two of the following : [2×10=20]

(1) (i) Calculate price index number using :

(a) Laspeyre’s

(b) Paasche’s

(c) Fisher’s formula. [6]
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Commodity Year 2000 Year 2001

Price Quantity Price Quantity

A 5 4 13 5

B 9 5 17 4

C 13 2 19 3

(ii) Explain consumers price index number. Explain the

method of construction of consumers price index numbers

using :

(a) aggregate expenditure method

(b) family budget method. [4]

(2) The following are the values of import of raw material and

export of finished product in suitable units :

Export Import

10 12

11 14

14 15

14 16

20 21

22 26

16 21

12 15

15 16

13 14

Calculate the coefficient of correlation between the import values

and export values and interpret.
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(3) Explain the concept of error in regression. Explain the procedure

of estimation of constants a and b for the simple linear regression

model,

 Y = a + bX + � with E(�) = 0 and V(�) = �2

by the method of least squares.

(4) (i) Examine the consistency of the following data : [8]

        N = 100, (A) = 40, (B) = 39, (C) = 41,

(AB) = 38, (AC) = 35, (BC) = 37.

(ii) Explain in brief notion of dichotomy and manifold

classification. [2]

5. Attempt any one of the following : [1×20=20]

(1) (i) The profit (in lakhs Rs.) earned by a company in Xth

year is tabulated below :

Year Profit

1 24

2 27

3 32

4 38

5 45
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Fit a second degree curve of the type

Y = a + bX + cX2

to the above data. [8]

(ii) A family budget survey of middle class families gave the

following data :

Items Prices in year Expenditure

2010 2011

Food 1000 1100 35%

Fuel and lighting 150 175 10%

Clothing 300 400 20%

House rent 500 500 20%

Miscellaneous 300 500 15%

Compute cost of living index number for the year 2011

taking 2010 as base year. [6]

(iii) Write a note on scatter diagram. [6]

(2) (i) Explain the various problems in the construction of index

numbers. [9]

(ii) A morbidity survey in certain locality revealed that, out

of 240 persons exposed to smallpox 112 were attacked.
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Out of 240 persons 152 had been vaccinated and of those

only 48 were attacked. Calculate the coefficient of association

between vaccination and attack of smallpox and interpret

the result. [5]

(iii) Given that

         n = 10, 2 235, 2500, 2209x yx y� � � � � �  and

2
x y� �  = 13590.

Compute the coefficient of correlation between X

and Y. [6]
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1. Write the different adult education programmes in India after

independence. [20]

Or

Define NLM and roles and duties of NLM in Indian context.

2. Explain the importance of adult education programmes in India. [20]

Or

Describe the economics of adult education and write the funds allocated

for every five year plans.

3. What do you mean by social equity in Indian context ? How can

we achieve the social equity in India ? [20]

P.T.O.
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Or

Write the importance of Total Literacy Campaign (TLC) in India

and explain the TLC in your district.

4. What is the definition of democracy ? Write the role of adult education

programme to achieve the democratic India. [20]

Or

“Health for All” explain and how to achieve this goal through literacy

programmes.

5. Write short notes on any two : [20]

(a) Health Awareness

(b) Integrated Rural Development

(c) Functional Literacy

(d) Extension Programmes.

100

 :— (i)

(ii)

(iii)
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1. [20]

NLM NLM 

2. [20]

3.

[20]

4.

[20]
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5. [20]
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